Table 2: Change in organ weight following hormone treatment (%)

Control 1 2 3 4 5 6
Castrate | Intact | Castrate | Intact | Castrate | Intact }iasﬁ\"\ Intact | Castrate Intact Castrate Intact Castrate
Pituitary 0% (NC) | -38% | -40% | -1% | 0% (N\)e 26 ,N 3% 1% | 0% (NC) 1% 1% 94% 99%
L)
ca
Thyroid gland 0% (NC) | 100% | 102% “_ 9% NC) | 1% | on(Nne) | 2% -1% | 0% (NC) | 0% (NC) | 96% 98%
e A
Adrenal glands 0% (NQ‘K @\ V8% ’b15(6 184&% | -5% 3% -13% -13% | 0% (NC) 5% 3% 5%
* /\ -~
Thymus %n% e\, \© Y% ﬁ/a g% —68% | -69% | -1% | 2% | -a7% | -50% 1% |[0%(NO | 3% | -a%
Testes V - 50% - -6% - -94% - 0% (NC) - 78% - -48% -
Prostate -9% 5% 3% 1% 2% |112%| s51% -4% 2% 88% -3% -6% -3%
Seminal vesicles -10% -4% 1% 2% 9% |180% | 107 % 5% 2% 80% -8% -4% | 0% (NC)
Body weight (g) 10% | -49% | -50% | -33% | -28% 33% | 37% -50% -50% 3% 2% -47% -47%
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